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The Howe bridge truss is subjected

to the loading shown. List all zero-
force members and determine the
force in members IH, BH and BL.
Indicate whether the members are in

tension or compression,

Answers: BH = 21.21 kN (()

HI = 35.0 kN (O)

Bl = 15.0 kN (T)
Zero-force Members:

_ol.ll.lill.:.a.aﬁa-: (llollll.loL

13, FG, FE, CH.

Part a: Demw the shast force snd bending Moment diagrama for the beam iosded

B8 shown. Ladel ait aignificant points. The beam is SUPPOned by ¢ rolier
at A snd s pin st B,
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Partd: Write the squation for the bering moment in the region 7° < x < 10"

Mo 12,622 - 3,707 x + 466,7 x> - 22 22 x

30 kN

3

8.

The rope which supports block D
passes over the fixed drumat E (4 =
0.2} and is attached to bar AB at F,
Neglecting the weights of bars AB
and BC, determine the maximum and
minimum permissibie values of the
weight D If the system is to remain in
equilibrium. The coefficient of
friction between AB and the
horizontal plane is 0.1,

ANSWErs:  Wo i

H

87.7 1b.

EO.be = wmw.b ib.

Determine the moment of Inertia of the area

shown with respect to a horizontal axis

passing through the centrold of the area.

Answers: vy = 3.5 inches from top

Ix = 410.95 1n=,
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